						Total		General Cost
Candidate Name	Office	District	County	Status	Won	Expenditures	General Vote	Per Vote
Hoohuli, Shaena	House	43		Challenger	No	\$13,608.63	613	\$22.20
Dela Cruz, Donovan	Senate	22		Incumbent	Yes	\$239,703.79	13,612	\$17.61
Amemiya, Keith	Mayor		Honolulu	Open	No	\$2,440,410.25	149,735	\$16.30
Eli, Stacelynn	House	43		Incumbent	Yes	\$53,859.23	4,089	\$13.17
DeCoite, Lynn	House	13		Incumbent	Yes	\$100,414.72	7,718	\$13.01
Cordero, Radiant	Honolulu Council	7	Honolulu	Open	Yes	\$164,830.26	12,730	\$12.95
Keith-Agaran, Gilbert	Senate	5		Incumbent	Yes	\$168,244.55	13,891	\$12.11
Aki, Jacob	House	32		Challenger	No	\$134,466.75	11,342	\$11.86
Branco, Patrick	House	50		Open	Yes	\$86,212.22	7,592	\$11.36
Rodenhurst, Ikaika	Hawaii Council	5	Hawaii	Challenger	No	\$43,854.46	3,978	\$11.02
La Chica, Mae Patricia	House	36		Challenger	No	\$66,760.52	6,337	\$10.54
Matsumoto, Lauren	House	45		Incumbent	Yes	\$47,832.04	4,616	\$10.36
Garcia, Diamond	House	43		Challenger	No	\$36,310.93	3,658	\$9.93
McDermott, Bob	House	40		Incumbent	Yes	\$51,353.43	5,365	\$9.57
Quinlan, Sean	House	47		Incumbent	Yes	\$47,618.20	5,425	\$8.78
Tam, Adrian	House	22		Challenger	Yes	\$51,704.06	6,080	\$8.50
Espero, William	Honolulu Council	9	Honolulu	Open	No	\$166,679.37	19,702	\$8.46
Blangiardi, Rick	Mayor		Honolulu	Open	Yes	\$1,884,930.57	224,474	\$8.40
Chang, Stanley	Senate	9		Incumbent	Yes	\$148,115.53	19,109	\$7.75
Chrupalyk, Jennifer	House	9		Challenger	No	\$10,595.63	1,383	\$7.66
Roth, Mitchell	Mayor		Hawaii	Challenger	Yes	\$369,428.37	50,421	\$7.33
Kimball, Heather	Hawaii Council	1	Hawaii	Open	Yes	\$33,251.86	4,667	\$7.12
Yamane, Ryan	House	37		Incumbent	Yes	\$71,269.39	10,049	\$7.09
Gates, Cedric	House	44		Incumbent	Yes	\$30,748.21	4,518	\$6.81
Chapman, Michael	House	45		Challenger	No	\$15,606.53	2,359	\$6.62
Shin, Lorraine	House	1		Challenger	No	\$22,877.60	3,497	\$6.54
Belatti, Della	House	24		Incumbent	Yes	\$45,634.97	7,189	\$6.35
Takumi, Roy	House	35		Incumbent	Yes	\$32,944.42	5,303	\$6.21
Marten, Lisa	House	51		Open	Yes	\$42,444.64	6,857	\$6.19
Kanealii-Kleinfelder, Matthew	Hawaii Council	5	Hawaii	Incumbent	Yes	\$26,612.49	4,357	\$6.11
Cullen, Ty	House	39	Travvan	Incumbent	Yes	\$45,169.15	7,420	\$6.09
Ho, Erik	House	51		Open	No	\$3,141.98	522	\$6.02
Nakashima, Mark	House	1		Incumbent	Yes	\$52,835.03	8,851	\$5.97
Sayama, Jackson	House	20		Open	Yes	\$53,927.79	9,235	\$5.84
Misalucha, Bennette	Senate	16		Open	Yes	\$66,736.82	11,508	\$5.80
Kogachi, Keith	House	17		Challenger	No	\$29,144.72	5,054	\$5.77
Ready, Boyd	House	47		Challenger	No	\$22,580.74	4,007	\$5.64
Parrish, Michael	House	19		Challenger	No	\$10,947.17	1,964	\$5.57
Tulba, Augusto	Honolulu Council	9	Honolulu	Open	Yes	\$10,947.17	21,265	\$5.46
Ward, Gene	House	17	Tionolala	Incumbent	Yes	\$49,211.35	9,284	\$5.46
LoPresti, Matthew	House	41	+	Open	Yes	\$34,046.15	6,522	\$5.30
Simon, Keone	House	34	+		No	\$22,979.00	4,420	\$5.22 \$5.20
,	House	36	+	Challenger Incumbent	Yes	\$22,979.00		\$5.20 \$5.12
Okimoto, Val		30	Hayyaii				6,949	
Marzo, Shelson	Mayor		Hawaii	Challenger	No	\$177,461.57	35,933	\$4.94

Candidate Name	Office	District	County	Status	Won	Total Expenditures	General Vote	General Cost Per Vote
Allen, Julia	House	20	Councy	Open	No	\$15,453.06	3,138	\$4.92
Kapela, Jeanne	House	5		Open	Yes	\$39,363.78	8,344	\$4.72
Lee, Christopher	Senate	25		Open	Yes	\$76,935.31	17,733	\$4.34
Onishi, Richard	House	3		Incumbent	Yes	\$35,468.51	8,228	\$4.31
Fevella, Kurt	Senate	19		Incumbent	Yes	\$52,691.38	12,345	\$4.27
Bonoan, Feena	Senate	20		Challenger	No	\$24,765.30	6,172	\$4.01
Thielen, Gregory	Honolulu Council	3	Honolulu	Open	No	\$75,712.30	19,143	\$3.96
Wildberger, Tina	House	11		Incumbent	Yes	\$30,262.32	7,661	\$3.95
Alcos, David	House	41		Open	No	\$24,920.00	6,319	\$3.94
Kahau, Keline	House	35		Challenger	No	\$2,382.18	611	\$3.90
Yoder, Steven	House	15		Challenger	No	\$11,132.16	2,880	\$3.87
McKelvey, Angus	House	10		Incumbent	Yes	\$22,232.76	5,837	\$3.81
Kiaaina, Esther	Honolulu Council	3	Honolulu	Open	Yes	\$105,125.44	27,895	\$3.77
Gabbard, Mike	Senate	20		Incumbent	Yes	\$51,586.21	13,967	\$3.69
Ganaden, Ernesto	House	30		Challenger	Yes	\$11,600.78	3,443	\$3.37
Quilingking, Tess	House	30		Challenger	No	\$5,392.19	1,617	\$3.33
Gusman, Christy	Senate	5		Challenger	No	\$21,806.91	6,683	\$3.26
Ilagan, Greggor	House	4		Open	Yes	\$24,990.81	7,801	\$3.20
Tokioka, James	House	15		Incumbent	Yes	\$24,600.49	7,712	\$3.19
Nakamura, Nadine	House	14		Incumbent	Yes	\$25,353.35	7,983	\$3.18
Souza, Kanani	House	50		Open	No	\$14,736.13	4,790	\$3.08
Woodson, Justin	House	9		Incumbent	Yes	\$21,097.34	7,019	\$3.01
Bulosan, Addison	Kauai Council	At-Large	Kauai	Challenger	No	\$35,050.16	11,744	\$2.98
Simpliciano, Joseph	House	44		Challenger	No	\$2,128.19	721	\$2.95
Kama-Toth, Kukana	House	51		Open	No	\$14,499.51	5,082	\$2.85
Takayama, Gregg	House	34		Incumbent	Yes	\$21,653.81	7,671	\$2.82
Kitashima, Kelly	Senate	16		Open	No	\$24,554.59	10,335	\$2.38
Svrcina, Emil	House	37		Challenger	No	\$8,068.04	3,442	\$2.34
Morikawa, Daynette	House	16		Incumbent	Yes	\$15,880.28	7,329	\$2.17
Todd, Christopher	House	2		Incumbent	Yes	\$19,255.62	9,552	\$2.02
Cook, Thomas	Maui Council	South Maui	Maui	Challenger	No	\$50,964.13	25,506	\$2.00
Alm, Steve	Prosecuting Attorney		Honolulu	Open	Yes	\$391,635.76	199,399	\$1.96
Crivello, Stacy	Maui Council	Molokai	Maui	Challenger	No	\$50,525.59	26,341	\$1.92
Kobayashi, Bertrand	House	19		Incumbent	Yes	\$15,784.42	8,344	\$1.89
de Jetley, Alberta	Maui Council	Lanai	Maui	Open	No	\$46,279.19	24,492	\$1.89
Kaneshiro, Arryl	Kauai Council	At-Large	Kauai	Incumbent	Yes	\$30,957.38	16,556	\$1.87
Gyldstrand, Travis	House	10		Challenger	No	\$1,120.89	606	\$1.85
Hashem, Mark	House	18		Incumbent	Yes	\$17,262.79	9,349	\$1.85
San Buenaventura, Joy	Senate	2		Open	Yes	\$25,247.05	14,225	\$1.77
Cabanilla, Rida	Senate	19		Challenger	No	\$15,620.79	8,813	\$1.77
Kau, Megan	Prosecuting Attorney		Honolulu	Open	No	\$278,480.86	159,745	\$1.74
Martinez, Rosebella	House	40		Challenger	No	\$6,725.50	3,886	\$1.73
Dandurand, Michael	Kauai Council	At-Large	Kauai	Challenger	No	\$10,746.94	6,283	\$1.71
Haumea, Desmon	House	4		Open	No	\$2,356.04	1,384	\$1.70

Candidate Name	Office	District	County	Status	Won	Total Expenditures	General Vote	General Cost Per Vote
Cowden, Felicia	Kauai Council	At-Large	Kauai	Incumbent	Yes	\$23,768.65	14,394	\$1.65
Kama, Natalie	Maui Council	Kahului	Maui	Incumbent	Yes	\$47,652.26	30,029	\$1.59
Maglinti, Austin	House	39		Challenger	No	\$6,082.23	3,849	\$1.58
Rawlins-Fernandez, Keani	Maui Council	Molokai	Maui	Incumbent	Yes	\$48,888.11	31,713	\$1.54
Nava, Frederick	Maui Council	West Maui	Maui	Challenger	No	\$40,386.54	26,592	\$1.52
Ochs, Nicholas	House	22		Challenger	No	\$4,131.94	2,869	\$1.44
Hughes, Susan	House	3		Challenger	No	\$4,522.49	3,165	\$1.43
Boyette, Jennifer	House	33		Challenger	No	\$4,325.01	3,084	\$1.40
Miller, John	Senate	22		Challenger	No	\$7,644.16	5,755	\$1.33
Kualii, KipuKai	Kauai Council	At-Large	Kauai	Incumbent	Yes	\$18,196.85	13,964	\$1.30
Matayoshi, Scot	House	49		Incumbent	Yes	\$12,834.21	10,275	\$1.25
Cermelj, Hope	House	4		Open	No	\$2,292.22	1,943	\$1.18
Decker, Johanna	House	5		Open	No	\$983.59	843	\$1.17
Kim-Marshall, Kristina	Senate	25		Open	No	\$11,010.41	9,567	\$1.15
Aldeguer, Maysana	House	44		Challenger	No	\$2,304.70	2,036	\$1.13
Kong, Samuel	House	33		Incumbent	Yes	\$10,167.27	9,010	\$1.13
Slom, Sam	Senate	9		Challenger	No	\$12,663.77	11,762	\$1.08
Keen, Ipo	Senate	5		Challenger	No	\$1,087.39	1,028	\$1.06
Akina, William	ОНА	At-Large		Incumbent	Yes	\$183,015.83	197,829	\$0.93
Carvalho, Bernard	Kauai Council	At-Large	Kauai	Challenger	Yes	\$14,631.10	16,351	\$0.89
Carroll, Claire	Maui Council	East Maui	Maui	Challenger	No	\$22,981.42	26,245	\$0.88
Chen, Wayne	House	19		Challenger	No	\$432.87	573	\$0.76
Eyre, Aja	Maui Council	Makawao	Maui	Challenger	No	\$13,904.11	18,459	\$0.75
Johnson, Gabriel	Maui Council	Lanai	Maui	Open	Yes	\$22,536.03	32,100	\$0.70
Ford, Lori	House	18		Challenger	No	\$3,077.75	4,432	\$0.69
Monas, Steve	House	14		Challenger	No	\$1,706.89	2,490	\$0.69
Sugimura, Yuki	Maui Council	Upcountry	Maui	Incumbent	Yes	\$32,495.27	48,268	\$0.67
Chock, Sr., Mason	Kauai Council	At-Large	Kauai	Incumbent	Yes	\$11,744.27	18,599	\$0.63
Waialeale Battad, Jade	Kauai Council	At-Large	Kauai	Challenger	No	\$6,859.59	11,002	\$0.62
Danner, Michael	House	49		Challenger	No	\$1,834.33	3,031	\$0.61
King, Kelly	Maui Council	South Maui	Maui	Incumbent	Yes	\$16,049.98	34,155	\$0.47
Sinenci, Shane	Maui Council	East Maui	Maui	Incumbent	Yes	\$14,457.00	32,995	\$0.44
Fukushima, Richard	Kauai Council	At-Large	Kauai	Challenger	No	\$2,179.83	5,039	\$0.43
Justus, Edgar	Kauai Council	At-Large	Kauai	Challenger	No	\$2,650.00	6,601	\$0.40
Kamekona, Carol	Maui Council	Kahului	Maui	Challenger	No	\$10,034.24	27,641	\$0.36
Evslin, Luke	Kauai Council	At-Large	Kauai	Incumbent	Yes	\$5,791.84	17,371	\$0.33
Molina, Michael	Maui Council	Makawao	Maui	Incumbent	Yes	\$12,522.52	41,233	\$0.30
Machado, Colette	ОНА	Molokai		Incumbent	No	\$45,268.41	160,246	\$0.28
Souza, Keoni	ОНА	At-Large		Challenger	No	\$49,570.32	196,206	\$0.25
Ka-Ipo, Ron	Senate	2		Open	No	\$1,167.72	4,694	\$0.25
McMackin, Devin	House	2		Challenger	No	\$360.30	1,589	\$0.23
Nishimura, Wally	Kauai Council	At-Large	Kauai	Challenger	No	\$1,319.13	6,213	\$0.21
Paltin, Tamara	Maui Council	West Maui	Maui	Incumbent	Yes	\$7,131.90	33,696	\$0.21
Mangauil, Joshua	ОНА	Hawaii		Open	No	\$26,824.83	150,554	\$0.18

						Total		General Cost
Candidate Name	Office	District	County	Status	Won	Expenditures	General Vote	Per Vote
DeCosta, Bill	Kauai Council	At-Large	Kauai	Challenger	Yes	\$2,386.94	14,523	\$0.16
Lee, Alice	Maui Council	Wailuku	Maui	Incumbent	Yes	\$7,137.01	48,020	\$0.15
Alapa, Luana	ОНА	Molokai		Challenger	Yes	\$25,680.44	199,004	\$0.13
DesMarais, Ana-Lucia	House	16		Challenger	No	\$260.00	2,611	\$0.10
Lindsey, Benjamin	ОНА	Hawaii		Open	Yes	\$14,350.95	231,916	\$0.06
Balinbin, Ernest	House	10		Challenger	No	\$119.25	3,163	\$0.04
Vanderpool, Robin	House	13		Challenger	No	\$31.39	1,583	\$0.02
Greenberg, Howard	House	11		Challenger	No	\$25.00	2,668	\$0.01
Hood, Carl	House	35		Challenger	No	\$0.00	2,155	\$0.00
Last, Michael	House	5		Open	No	\$0.00	1,636	\$0.00
Marler, Theresa	House	13		Challenger	No	\$0.00	2,000	\$0.00
Sexton, Andrew	House	24		Challenger	No	\$0.00	2,121	\$0.00
Simbre-Medeiros, Shirley	Kauai Council	At-Large	Kauai	Challenger	No	\$0.00	5,650	\$0.00
Yagong, Dominic	Hawaii Council	1	Hawaii	Open	No	\$0.00	3,855	\$0.00